Checklist for this Friday’s test:

1. Which of these ratios are 'ONE'? In the box below each if the factor is true write
True! if the factor is incorrect rewrite it so it isn't.
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2. This 1s a solid chunk of sodium
carbonate.
e In the box draw an aqueous
chunk of the same substance.
e Include eight water molecules.
e Make sure the waters are
pointing in the right direction!
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5. If two objects are electrically both positive, those objects will ( repel / attract ).
6. Opposite charges ( attract / repel ).

7. Things are facing in the wrong
directions here. Think about
‘opposites attract’ and draw
things facing correctly in the box.
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8. From memory, what is the formula of each

carbonic acid

phosphoric acid

9. Natural gas contains 97% methane (CH,), 1.5% ethane (C,Hg), 1% CO,, and 0.5% nitrogen gases.

solvent

solute(s):



10.Things are facing in the wrong
directions here. Think about
‘opposites attract’ and draw things
facing correctly in the box.
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11.Suppose an excess of aluminum was allowed to react with 45 mL of aqueous
0.39M hydrochloric acid to produce aluminum chloride and hydrogen gas.
Assume the acid is the limiting reactant.
a. Write a balanced equation.

b. If all of the acid reacts, how many moles of aluminum should react?

c. Ifall of the acid reacts, how many grams of aluminum chloride will form?

d. If all of the acid reacts, how many liters, at STP, of hydrogen should form?

Directions: Turn the following into balanced equations by filling in the blanks with the correct
coefficients, formulas of ions or solids, and names.

Cation Anion Formula Name

12. + - Balo

13. + - iron (IIT) sulfide

14.You need to find the limiting reactant at some point to solve this one:
Determine the volume in liters of carbon dioxide that should be produced in the
reaction between 98.0. g of carbon and 500. liters of O2. (Similar to the scissors
sheet)

15.What is the formula for finding volume if you're given moles and concentration?



